Quiz VII General Chemistry I Lecture Spring 15 Dr. Hahn 20 pis 4/21°T 830am form A quiz #
Name : {Q(’/(’)/ 3 - Name

(prmt name) Z . (sign name)

Please show all work for full credit and for parl:lal credit. Fmal Exam 4/30 8:30 am Tues Thurs class 8:30- _
10:30am; 9 55 am Tues, Thurs class 3-4pm in LSF 301 13 multlple chorce 1/3 short answer, 1/3 long answer '

1_.' a. Gwe the Lewis Dot symbol of the element @ N o (4 pts)
b. Number of valence electrons for the element above is: _ i electrons (4 pts)
- 2 lee the Lewis Dot Structure of the followmg by completmg the followmg HNOCI H

a Show your work for the count of the valence electrons in the ent:re molecules (6 pts)

i v et e
(;Le)+(9é+@»v)+ ’le ;t:l(?e

b'. Given the followmg two structures choose the coxrect structure and then explam one reason why

_ . the other structure is_ incorrect. (6 pts) C?
2Rl 24¢

l oo éw%é .

: / — \ ‘
e ot @ wﬂ“‘%ﬂ
@ NN )kaﬂ @T‘Qg@w bllowing:

- Extra Credit (3 pts 1% pt each blank) For the following given Lewis Dot Structure comp

6%@96%\4@ 065('

U

" et
H —As* H

a. " Number of electrons pairs on the atom with the * for VSEPRT 4 |

b. Number of lone pairs on the atom with the * j/

c. Geometry of the electron palrs at the atom with the * "é\ T QWA’A Q’(ﬂ"“ﬁj
d. Geometry of the molecule at the atom with the * (é\f‘ W/( J? 9 vl It c% ﬁ/(

e. Bond angle at the atom with the * [ O q S\

f  Hybridization at the atom with the * P >
| 2



Quiz VII General Chemistry I Lecture Spring 15 Dr. Hahn 20 pts 421 T 8:30am form B quiz#

Name K g/"\, Name

(print name) 4 (sign name)

Please show all work for full credit and for partial credit. Final Exam 4/30 8:30 am Tues, Thurs class 8:30-
10:30am; 9:55 am Tues, Thurs class 3-4pm in LSF 301 1/3 multiple choice, 1/3 short answer, 1/3 long answer

€y
l. a Give the Lewis Dot symbol of the element  § Cl& (4 pts)
. LN ]
b. Number of valence electrons for the element above is: 2 electrons (4 pts)
2. Give the Lewis Dot Structure of the following by completing the following. BN C Clz

a. Show your work for the count of the valence electrons in the entire molecules. (6 pts)

y(4e) + 5+ &) 2(%) - - L%
a¥ w < (L

b.  Given the following two structures, choose the correct structure and then explain one reason why

the other structure is_incorrect. (6 pts) — ‘ . i
@H‘ Cnr-on 02 Ao doot \\\( GY/@UL

. y \ OGQ@ C_ J’\ﬁs J’HOV ‘
¢ ea® —m'\a..—\ 0(};@,{/«Cm

tet ) o Lkdfer}gjéﬁ ‘
.[(Ofifm\r 2= 5¢ éO(‘)H\aqbﬁ [Lx2= 2C%

Extra Credit (3 pts, ¥ pt each blank) For the following given Lewis Dot Structure, complete the following:

0y
J :
57 m

a. Number of electrons pairs on the atom with the * for VSEPRT 3

b. Number of lone pairs on the atom with the * 0

c. Geometry of the electron pairs at the atom w1th the * ZéV ! @,ﬂv@é @ IM‘ i~
d. Geometry of the molecule at the atom with the * ’é VI 4/%—29»6 p A S—
Vv

o
e. Bond angle at the atom with the * / lO

f Hybridization at the atom with the ¥ _ .S s




Qu1z VII General ChemlstryILecture Spring 15 Dr. Hahn 20 pts 4/21 T 9:55am form A 'quiz—# e

Name /éa/l/\ | Name

(print name) : (s;gn name)

Please show all work for full credit and for partlal credit. Final Exam 4/30 8:30 am Tues, Thurs class 8:30-
10:30am; 9:55 am Tues Thurs class 3-4pm in LSF 361 1/3 multiple choice,1/3 short answer, 1/3 long answer
& - : S

1. a  .Give the Lewis Dot symbol of the element b Ce (4 pts)

é
b. Is the bond N-—O- [ or (non polar covalent)] (c1rcle one) 4 pts)

2. Gwe the Lew;s Dot Structure of the followmg by completmg the following., H2C SO

a. Show dour work for the courit of the valence electrons in the entire molecules (6 pts)

S )
z(i>+ Gfg)Jr Ce + Qe /fe

b.  Given the following two structures, choose the correct structure and then explam one reason why
the other structure is incorrect. © pts)
| —_qxl= (&

e D W Chnngt hae
aSa : Y\ Oy ¢ MW / 9\

@ < Ve 2nd peMM -
/\)—H _Qanho‘% C}CJM /:\
w Ot " N\ ®

@/OK’L 208

Extra Credlt (3 pts, 1/2 pt eéach blank) For the followmg given Lewis Dot Structure complete the followmg

- Cl\ /H
° 01/ RN
a. Number of electrons pairs on the atom w1th the * for VSEPRT
b. Number of lone pairs on the atom with the * _Z;Q\f‘ 0 ,
c. Geometry of the electron pairs at the atom with the * ‘él{“(‘ g/{’\/td/( g f” { g -
.d. Geom'etry of the molecule at the atom with the * "é‘/‘ l j,!)\r\zy( £ [Mﬂa——

e. Bond angle at the atom with the * l Z 0

2-

£ Hybridization at the atom with the * W=
i



Quiz VII General Chemistry I Lecture Spring 15 Dr. Hahn 20 pts 4/21T 9:55 am form B quiz #

Name ,( AN Name

(print name) /4 (sign name)

Please show all work for full credit and for partial credit. Final Exam 4/30 8:30 am Tues, Thurs class 8:30-
10:30am; 9:55 am Tues, Thurs class 3-4pm in LSF 301 1/3 multiple choice, 1/3 short answer, 1/3 long answer

(R3]
1. a Give the Lewis Dot symbol of the element +Se & (4 pts)
ee
b. Isthe bond N-----N [(polar covalent) or{nion polar covalent)] (circle one) (4 pts)

2. Give the Lewis Dot Structure of the following by completing the following. H3CzF O

a. Show your work for the count of the valence electrons in the entire molecules. (6 pts)

2,(4%8) +2(4e) + 1T + e = 724
- C P O

b.  Given the following two structures, choose the correct structure and then explain one reason why
the other structure is incorrect. (6 pts)

Lxe=z4e 52 =28 Log

Extra Credit (3 pts, ¥ pt each blank) For the following given Lewis Dot Structur€, complﬁt”e”t';e followi

—

IS~

@ E’c g Clg 30
* Cl 1S

to >L A}‘-QQ
Nodll N .
P O H 00 s
a. Number of electrons pairs on the atom with the * for VSEPRT (;2
b. Number of lone pairs on the atom with the * & ety
c. Geometry of the electron pairs at the atom with the * O C)’(’a/ j’\'@[ﬂ/@f
d. Geometry of the molecule at the atom with the * __ (3 O{—f L /’\ Q/ﬁ l/ﬂj

- G
e. Bond angle at the atom with the * 9 O

> d”
f  Hybridization at the atom with the * S<2
i



Quiz VII General Chemistry I Lecture Spring 15 Dr. Hahn 20 pts 4/21 T 8:30am form A quiz# 5—\ ‘((/

Name Name
(print name) (sign name)

Please show all work for full credit and for partial credit. Final Exam 4/30 8:30 am Tues, Thurs class 8:30-
10:30am; 9:55 am Tues, Thurs class 3-4pm in LSF 301 1/3 multiple choice,1/3 short answer, 1/3 long answer

1. a Give the Lewis Dot symbol of the element N (4 pts)
b. Number of valence electrons for the element above is: electrons (4 pts)
2. Give the Lewis Dot Structure of the following by completing the following. HNOCI H

a. Show your work for the count of the valence electrons in the entire molecules. (6 pts)

b.  Given the following two structures, choose the correct structure and then explain one reason why
the other structure is_incorrect. (6 pts)

S e LR
Qﬁv gﬁ‘\
N e N
H— % N0l . H¢g‘§m{°
@ o ta ) @

Extra Credit (3 pts, ¥ pt each blank) For the following given Lewis Dot Structure, complete the following:

st
H —As*® H

a. Number of electrons pairs on the atom with the * for VSEPRT
b. Number of lone pairs on the atom with the *

c. Geometry of the electron pairs at the atom with the *

d. Geometry of the molecule at the atom with the *

e. Bond angle at the atom with the *

f.  Hybridization at the atom with the *




Quiz VII General Chemistry I Lecture Spring 15 Dr, Hahn 20 pts 4/21 T 8:30am form B quiz # = (

Name Name
(print name) (sign name)

Please show all work for full credit and for partial credit. Final Exam 4/30 8:30 am Tues, Thurs class 8:30-
10:30am; 9:55 am Tues, Thurs class 3-4pm in LSF 301 1/3 multiple choice,1/3 short answer,1/3 long answer

1. a Give the Lewis Dot symbol of the element Ci (4 pts)
b. Number of valence electrons for the element above is: electrons {4 pts)
2. Give the Lewis Dot Structure of the following by completing the following. HzN C Clz

a. Show your work for the count of the valence electrons in the entire molecules. (6 pts)

b.  Given the following two structures, choose the correct structure and then explain one reason why
the other structure is_incorrect. (6 pts)

Q¢

H . H
l et -] l g¢
* H—N==C~—Cl H— N—C—Cl ¢
s l \ o8 l ll-x o0
":Clg H e (¢
'Y & @
te (a) ()

Extra Credit (3 pts, ¥z pt each blank) For the following given Lewis Dot Structure, complete the following;

a. Number of electrons pairs on the atom with the * for VSEPRT

b. Number of lone pairs on the atom with the *

¢. Geometry of the electron pairs at the atom with the *

d. Geometry of the molecule at the atom with the *

e. Bond angle at the atom with the *

f. Hybridization at the atom with the *




Quiz VIT General Chemistry I Lecture Spring 15 Dr. Hahn 20 pts 4/21 T 9:55 am form A quiz # L“‘Lf‘

Name Name
(print name) (sign name)

Please show all work for full credit and for partial credit. Final Exam 4/30 8:30 am Tues, Thurs class 8:30-
10:30am; 9:55 am Tues, Thurs class 3-4pm in LSF 301 1/3 multiple choice,1/3 short answer, 1/3 long answer

1. a Give the Lewis Dot symbol of the element C (4 pts)
b. Isthe bond N-—Q [(polar covalent) or (non polar covalent)] (circle one) (4 pts)
2 Give the Lewis Dot Structure of the foliowing by completing the following. H2C S 0

a. Show your work for the count of the valence electrons in the entire molecules. (6 pts)

-

b.  Given the following two structures, choose the correct structure and then explain one reason why
the other structure is incorrect. (6 pts)

28 €
ise °s %
k I
H/ (‘\tb__..@ H H /C\Qge___ﬂ
] ¢
(a) ®)

Extra Credit (3 pts, ¥ pt each blank) For the following given Lewis Dot Structure, complete the following:

o4

s Clw_ Al
0o C=C%#

e ™M
Bb

a. Number of electrons pairs on the atom with the * for VSEPRT
b. Number of lone pairs on the atom with the *

¢. Geometry of the electron pairs at the atom with the *

d. Geometry of the molecule at the atom with the *

¢. Bond angle at the atom with the *

f Hybridization at the atom with the *



Quiz VI General Chemistry I Lecture Spring 15 Dr. Hahn 20 pts 4/21 T 9:55 am form B quiz # Z f-\]

Name Name
(print name) (sign name)

Please show all work for full credit and for partial credit. Final Exam 4/36 8:30 am Tues, Thurs class 8:30-
10:30am; 9:55 am Tues, Thurs class 3-4pm in LSF 301 1/3 multiple choice,1/3 short answer,1/3 long answer

1. a Give the Lewis Dot symbol of the element Se (4 pts)
b. Isthe bond N-----N [(polar covalent) or (non polar covalent)] (circle one) (4 pts)
2. Give the Lewis Dot Structure of the following by completing the following. H3;C,F O

a. Show your work for the count of the valence electrons in the entire molecules. (6 pts)

b.  Given the following two structures, choose the correct structure and then explain one reason why

the_other structure is incorrect. (6 pts)
oo e . ot ce

SES (1 fEC 200
: d
(@) ()

Extra Credit (3 pts, ¥ pt each blank) For the following given Lewis Dot Structure, complete the following:
. Cl § e
< “CI /CI :
Pﬁ >
a. Number of electrons pairs on the atom with the * for VSEPRT

b. Number of lone pairs on the atom with the *

¢. Geometry of the electron pairs at the atom with the *

d. Geometry of the molecule at the atom with the *

e. Bond angle at the atom with the *

£ Hybridization at the atom with the *




